[ 1)
= JE N

P nend =
|GG A

— N

3 45

#F CFCl R 4473 CFC3 100%%
- CFC1 ~ CFC2 %2 CFC3 %

L
fu~600gm£ 100 § ~ o

CFC1 2 CFC2 & p 100%

g 7 iE
ﬁi’F CFC2 £ 4 % 74
ERFPHA NG 200 F

v -\

PN

=

10£)V WA)

CFCl1 CFC2
200 ¥ ~ 600 g’m » B
100% | R
CFC3
100 3 ~
- EREBLFEERP
lﬁl%i =X i3
(-)CFC2 § 3 ¥4 @ & (-) CFCZ; Y B L
;«Fe.vul%FLLO FEEG 1R o
(Z )CFCI~CFC3 5§ £ R 3244 ((Z) CFCl P EREFA 200
Bs 2008~ ~ 100 @ ~ - 3~ A 70083 ~ >
AR 700 § o R E L Y ki3I SEE 2 B
2 7 2 Y A% CFCI > e *&i’CFCZ—f—l“‘? B
CFC2 % CFC3 ERP TR NI 2N N
228900 § ~ 0 i 700 § Ja354 CFC3 %fE&

oo R

(=) 7
2 CFCl % 2R @4 i
CFC g2 2 ]#7H 5 @ =
P RFF CFC3 %R
3% CFC #712 o

EEF R T o

8 NP X@-%ﬁﬁ =X LRI

3 CFC #7118 % K35
do o~ AR B RE 2
- E R £ CFCL #
&R -

() &1 » 9 23 ¢ CFC
5% 307 CFC #118 o




[

2]

- R IEP

~ N

-—

BT 2P ERFEF CFC100% %48 CFC B 453 2R 2
7 100%% # » CFC112 & & # 4 2,000 § ~ » % @2 7
112&79 19 AkAfd 111 &R P4 1,000 § =3 CFC:

100%

- A

PR 112 ERMTERY FRFLRS CFCII2 £/ 2

AR P
112 # & CFC § & & 42,000 § ~

BR|I+ERSP112# T3 1 pARFALFREK1,000 75
. 1=3,000 g ~
T
A ERSTN2 #8702 1 pigesf lll # R AT L
= |3+~ CFC % #2414 CFC%""‘/»\ﬁ"’f‘*M\ éf&ﬂi"
i |7 P R4 CFC #4F4cd » £ CFC § # A #
& 12,0003~ o




[ 3]
-~ RUIRPE
BT 2N CFCE"MEF™ > CFC* 112 & 1% 1 p 1
1,000 8 ~pEF AR (M7+ €352 2 %8 5 FVPL)» A %2t 112
#1297 31 p#%&E 12008~ 113267 1 p 38 A%
& 1,500 5 ~ o
= P ERR
CFC 3% FPAAr € 3R E 4 L FVPL 2= 4
ERP | EFVPLIEF S | F S EIFRPIEHE

# i, S fi
200 i = 0 =

112 & 3 |
(1200 § -1,000 § =)
300 i = 500 i =

13 & 4 4

(1,500 & ~-1,200 7 ~) | (1,500 F ~-1,000 & ~)




